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e (i) ey e dfd v T @ e ole 3 v of

Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(i) TRIE 797 & T} 9T W A 0% e E FT
Solve all parts of a question consecutively together.
(iii) HE TV % T3 I & AT H |
Start each question on a fresh page.

(iv) 3 srarat 5 srre 617 @) Reafer & sfaon siqare #t arw & 1

Only English version is valid in case of difference in both the languages.

L () wRomd o anaert 7o & s fafed
Write the difference between resultant and equilibrant force.
(i) o7 O 3 % yard fafad |
Write the units of mass and velocity.
(i) ameget = fagr fefad |
Write the principle of moment.

(iv) = we UF f Ui an @ %% T ¥ | afy 39 afr T wum R A were s
% o Ty fefad |

Two projectiles are thrown with the same initial velocity. If the horizontal range
is same, then write the relationship between the angles of projection.

(v) wiofg ot %t gerd fafad |

Write the unit of angular accelaration. 2x5
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s farg 77 &1 TR 9 (P) FAA T I A G AN T A W E )
gfromet &= %1 a= v T 7 w7

Two forces each of equal magnitude (P) are acting at a point making an angle of
60° with each other. Find the magnitude and direction of the resultant force.

UF T W A 10 WEHEUT € | U e oF EF W 9K HE] 9w £ | = w
a1 72 Tz & | 3) fF| @07 97 ST g1 2 9RO 9 @ 3 IE S0 |

The velocity of a river is 10 m/sec. A person wants to cross the river at right
angle. The velocity of person is 72 knvhr. At what angle he should swim ?
Determine the resultant velociry, 6x2

e Fora 7 A e A T F e w3 Hiet uE 23 HRT b
oftr aF 400 Fett =gz= &1 U T2E 7 A A 0 AR WATR | T % O A W

The length of a horizontal Jib and Tie members of a Jib crane are 3 m and A3m
respectively. If it carries a load of 400 kN, find the forces in Jib and Tie
members.

oy & framy w1 fefaa

Write the Laws of Friction. 6x2

T AT TS WA F 200 S F 5EE w 720 v F A ¥ dfrem sz b e

T TR e § g T A 0 F a9 (R aw e e | 30 g | 2
AT o A HEE |

A plane is flying horizontally with a velocity of 720 knvhr at a height of 200 m from
earth. At what distance from the target Iving on earth it should drop a bomb so that it
hits the target. Calculate also the velocity with which it will hit the target. 12

(1)

(i)

2 it o =T | ;2 7 WA 40 | F SR B F U A A O U g
% E | ggF foT & e w5 w9 i e e

Two spheres having diameters in the ratio of 1 : 2 and density in the ratioof 4 : 1
are placed on a horizontal plane touching each other. Find the position of the
centre of gravity of combined body.

fox & femmt 74 @z ° e % ¥ feaA A e

Find the position of C.G. of the section shown in fig. 6x2

— 40 mm —=

40 mm

Wmm

far - 1/ Fig. - 1
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TH TR B AT 4 ¥ | WA TR 2000 R e | 6000 e =Ew % W wmEw
30 forett =2 wF 45 formit g2A & A @ 32 N wwa & | Prafetae w5 oo w5

(i) =¥ =1 Fam (i) 8000 fFalt =gza Wk & ford moliw % 7w (i) rfveram aifes o
(iv) sy Tevar

The velocity ratio of a machine is 4. If 2000 kN & 6000 kN weights are lifted by the
machine by efforts of 30 kN and 45 kN respectively. Determine the following :

(1) Law of machine (ii) The efficiency of machine for a weight of 8000 kN.
(i11) Maximum mechanical advantage (iv) Maximum efficiency. Ix4

(i) =qz= %t nia & 7wt fan # geemd |
Explain the Newton’s second law of motion.
(i) Yt & od Wiy 3n § wav wfea S
Establish the relation between linear velocity and angular velocity.
(iii) Gfed 1@ 3% v ¥ a1 = w61E |
Explain the difference between Indicated and Brake Power. 4x3

(i) % i ofed w1 =W 1.0 927w 9R 3000 429 ¥ 1 9% 150 9% ufa foae & A
/g9 W & | iqore ofed 5t nfeer S o w5

The diameter of a fly wheel is 1.0 m and the weight is 3000 N. It is rotating at
150 rpm. Find the kinetic energy of the fly wheel.

(i) fed & fFamt o7 IR ST A ST A @ O T T 0 TR 10 AFvE E te |

Determine the tangential force on the edge of fly wheel which can stop it in
10 sec. 6x2
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